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Homework : Parallelograms

3. Given PQ = 24, PS = 19, PR = 42, 7Q =10, m<ZPQR = 106°, m£QSR = 49°, and mZPRS = 35°.
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1 | Directions: If each quadrilateral below is a parallelogram, find the missing measures.

: 1. 2.

i L mv=_3A|

3 3t Ve O c 15 D cr=_1)

;_ X 45 — >\ G FE = V=

: > cE = =14
: mel = X\Ll = i - \
' ¥ i \0 F i £ GD = \
; mem=_{p\” *FD =22

!

:

:

:

:

miRPS = | > X0, iao

kg &
mePSQ= i) NI =5 T

4. Find KL. S. lfAC:Sx—14andEC=2t+11,sorveforx.
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6. Solve for x. R 7. FAind m2V.
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Ex 1) Given: Quadrilateral ABCD is a parallelogram.

Prove: AB=CD and BC =DA

Statement
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Reason

1. ABCD is a parallelogram _
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AB = CD; BC = DA
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Ex 2) Given: OABCD is a parallelogram.

1. Given

2. Definition of a parallelogram

3. A ol TORNOT 24 oy

4. Reflexive Property of Congruence
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Prove: AC and BD bisect each other at E.

Statement

1. ABCD is a parallelogram

2. AB || DC

3.21=24; £2 =13

4.AB = DC
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6.AE = EC; BE = ED
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Reason
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7. Definition of segment bisector
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